#Raju-Newman 22 K 2 It JJEREREGEM 1

f#case 1

k1 <- Raju_Newman()/1e6

k1

f#tcase 2

K2 <- Raju_Newman (cc=0.01) /1e6
K2

i 77 & POt R pIE

k1 <- Raju_Newman()/1e6

k2 <- Raju_Newman (P=0.01e6) /1e6
dkA <- k1$KA-k28KA

dkB <- k1$KB-k2$KB

dadN1 (dK=dkA) %100

dadN1 (dK=dkB) *100

#2 1N A —REICK HREMEEE

a<-0.02; cc<-0.015;

res <- PlateR6(Su = 4.9e+08, Sy = 2.7e+08,a = a, cc =cc, t =0.04, b = 0.1, P=2.7e6, M=0)
cat ("Kr=", res[1], ", Lr=", res[2])

cat ("Safety Margin=", SafetyMargin (Kr=res[1], Lr=res[2]))

DrawR6 (res[1], res[2], Su = 4.9e+08, Sy = 2. 7e+08)

#R AR & O fi2 & 14 5T

a<-0.02; cc<-0.015;

for (i in 1:300000) {
Kmax<-Raju_Newman(a = a, cc = cc, t
da<-dadN1 (R=0. 0, dK=Kmax$KA/1e6) /1e3
dc<-dadN1 (R=0. 0, dK=Kmax$KB/1e6) /1e3

a<-a+da

0.04, b = 0.1, P=8eb, N=0)

cc<—cc+de
}
cat ("a=", a, “2¢=", cc*2)
#texpected solution
#ta= 0. 03044039 2c= 0. 07068406
res<-PlateR6 (Su = 4.9e+08, Sy = 2.7e+08, a =a, cc =cc, t=20.04 b=20.1 P=2.7¢6, M=0)
DrawR6 (Kr=res[1], Lr=res[2], Su = 4.9e+08, Sy = 2.7e+08)
cat ("Safety Margin=", SafetyMargin(Kr=res[1], Lr=res[2]))



